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Data Sufficiency

@EPoT DO

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the followimg guidelines:

(a) Mark choice (1) if the statement I alone is sufficient 1o answer the question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and 11 together are not sufficient to
answer the question and addirional data is required.

BPSS: 196 (HF)S a0 2.8 (H9). 0 1508 L 1T @ Hden e Do
[PdDmren  SHTOoFOM @I IHTAD. VAND  ATOFTR)
SBOAMPNOD). T ) (DIITren (4) 50 ASTETTR) D3 )0CHE
HTEren eHEor Bor @ A AT0oTd). & JT 6%

8o SrGGEE dr@EEen GHETNoD (1) od (4) SO% HO
90N B 20D D00E DOHOoA.

(a) %150 DATTA0 DT JOCHEY (IO 1 ST So0 DT FRDONS
& 23572 (1) ™ HRoBoA.

(b) (2750 AAFTTHO0 N YOOE (DI I ST HOFR0NS
o)) 23572 (2) 1 hdosod.

(€) 197) 50 DTG0 BT )ODE [DITTEN L I $O) HTT{Q000
wothHs 9 258 Sroe HouHo TENES D 2o @) m
gilelolnTola B

(d) (5% 80 DT S0 BT HOCHH (DSDTeN 1L I R $ra° HT00
58 0358y BT 040 NGNS 2 Baren @) mibdodod.

‘What is the cost of fencing a rectangular field?

60 A0SO TerdE SoB JEWOLD Jod DO WHEE?
L. The dimensions of the field are 100 m x 75 m.

e Jeo Soden 100 2. x 73 5y

II. The cost of fencing is Rs, 50 per meter.

28 B0 e oS SaErDdS 6. 50 DAY BSOS,
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Data Sufficiency

Ggrod DUDS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions, Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the (uestion.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements T and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements 1 and II together are not sufficient to
answer the question and additional data is required.

ReeSed: 1D (DTS 2.8 1H9). D 1808 L T e Hcdhen Be Dok
(DdSTen  SFoFomr AdjHdFon. A0 ATOTR)
SDBTA0D. QD) (DHDTEN (¥ 30 DATTTR) QD )OO
DO @HTAT B ©D DD ATOOTE. & ATERH

(808 SrFE)8 ArEre) SH0NoD (1) od 4) S85 OO
OV 23T2NM) NODE TOHOS.

(@) D330 DAFT A0 BT JOCOE (NS0 [ AF|dad HT* RN
o0 22w (1) e Yo S0d,

) 19) 50 AT H0 BT IOCHE (DIIFO IT oS53 DT TRHONS
0 25720 (2) e HB00B.

(e) 1) 5 DIFTE0 BT Y005 Hdiaren L I 00 HoTRH00
®othe D 288 Srmr HoYNo TENFE 2 (3) ™
hoossod.

(d) (%)% DIrTH0 DT IO [DSdTren LI S0 §ra HOao
55 @G58 ST0F0 @SDGDONS S 22w (4) T HYO0S0A.

What 1s the heiglit of the mowntam?

& Soc Deu Jody?

[ Scen from a pomnt A on level with the foor of the mountam the angle of the

elevation of the top is 30°,
Soc Fce € DITCOCOT GoC Dedolp A Aed oA BrRdN Y@ Sod
Fwdo SRwdy Swo 30°.
If. The mountam is sirounded by a forest.

es Soct cotar 0ad Pab.
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Data Sufficiency

ST BOHS

Note: This question 1s followed by data in the form of two statements labeled as 1
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement [ alone 1s sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢)  Mark choice (2) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and IT together are not sufficient to
answer the question and additional data 1s required.

s s: 196 (D)5 28 1HF). T 1808 L 1T @D fhhen fe> Dockh
DSV HFTOFOT  QWJFATON. AN QATOTWR)
SHTIPNOD, DS |HAHITN |DF) 80 SIPFTR) BT H0HHH
DO WHTAT B @ M AT0oTFE. & TSt

(8060 S5Gc568 ArEen SIGITNoD (1) OB () S35 O0
0N R0 D008 TADOA.

(a) (DFYH HAFTO0 AT JOCHE |NDDG0 1 ST DORD0NS
a 220 (1) ™ Hlodod.

(b) (DB SSTH0 DT H0DH (DSINO I ST DO
ol 2720 (2) ™ 1H00B0A,

(©) (DFH DTG0 AT YOO (DADT e L I EOR) HO*§a)n0om
®0NS D 2.5,8 Sror HoNo SEXT oz () ™
00N OA.

(d) 129%9) 50 DAPEFH0 BT YOS (DSSTEN LI 50 e HU°ER0
58 @) OF0F0 @SHDGD0NE D 235720 (@) T H00B0A8.

What is the cost of the table?

ws 2w O Jod?
1. 2 tables-and 3 chairs cost Rs. 5000.

2 eywen, 3 5380 28ao ax. S000.

1. 3 tables and 2 chairs cost Rs. 6500,

3 wpen 1 0be 8bdo dr. 6500
TS ICET 2018



TS ICET 2018
Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 4 Question Id : 9126062658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Daia Sufficiency

Sgros DORS

Note: This question 1s followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the guestion.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.

B S: (08 DTS 2.8 (99), TR 1800 L T@d Mden e Do
Romre))  OF0FOMT  QDSOTON. 20 HT0TR)
SBHN0D. DDA |DSDTED (F) $0 DSFTE R, WD )JOCHEY
DOTEN PTG B @ D AT00TTO). & TG

80D Hrdds 8 AriEey SATITENoD (1) Dod (9) SO SO
0NN BT JODE TOAHOA.

(a) (D80 DATTH0 BT YO (DIBIS0 I IFEH HTRHONSB
o Barew (1) T HBo0&.

(b) 1399 50 SATETH0 TD )0LHED (DD S0 ISPl HTNDON S
o 2520 (2) e HO0SoA.

(©) 197) 50 DIFE'A0 AD 0B (e L I 500 N0 5000
®oS D 286 Sror HouRo TEFE D 2w @) ™
Hb8o50d.

(d) (DT80 DAPTH0 2D )00 (HADTen LI O §FE HO%N0
5% @58y GEP0F0 @HIGHONS D Baren (@) ™ Hdo0d.

How many bricks are needed to construct a wall?

28 Be s0ewdé DIy evsLd 87

1. The dimensions of the wall are 30m x 2m x 0.5m.

e Soden 30 x 25 x05 h

II.  The dimensions of the brick are 30 cmx 10 cm x 5 cm.

s Sooen 30 Do. S x 10 Do. N x 5 e, N,
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Data SufTiciency

GEro? DURS
Nofe: This question is followed by data in the form of rwo statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the question.
(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.
(¢)  Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

Qesed: |06 (HF) ST 2.8 (D7), TR 1806 1L IT @ /Hen He> Do
RDIDVTED  STOHOMT  QHLHTO). AW  OSTTOTR))
SHTTNOD), TD YD [DIDTEN (DFYH0 AT, DD I0CHE
DTN @HTOIF B @ B AT00TTO. & AT G

1808 Sr0568 AMEe) SHTN0D (1) OB (4) S55 HB
0N Bar2N) HODE TOHOA.

(a) [F)H0 DPGE0 QW) (2IIN0 1576530 DO Q000
&0 22572 (1) e hBoB 0B,

(b) (DFLB0 DTFH 0 DD )0DE |DSHII0 M AT (Ehad) TSR0 0NS
a0 2372 (2) 1 HBoBod.

(€) (DT DITFTTH0 D )OO (HIDT N I, I O HT§3a000
®oS D 2.88 Srm HoUN0 SENFS D 2 (3) I
ook,

(d) 19%) 30 QT GFA0 IW )OS (DTN 1. I §O 75 HOTER0
5% @&d8) AF0F0 @560 2 2aran (4) T H0D0A.

What is the average wage of the worker i the factory?

es StPg!‘doé‘b 500,209 it 2w Jos?

I.  The total monthly wage bill of the factory is Rs. 25 lakhs.

& ST oo 2o DU dore DG dr. 25 v,

1L The monthly salary of the supervisor is Rs. 20000.
:3633.!53& e Saza g 20000,
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Data Sufficiency

Ggred Do

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢y  Mark choice (3) if both the statements T and II are sufficient to answer the
question bur neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.

JrEsS: (e 09) S 2.8 199, D (808 L T ®J Hden Ko Dok
(PDIPVTED GFOFOmT AIHIDTON. QDD OTOFTR),
GHTTNOD, AD )R DT EN (D9) 30 DITTT ) DL )OS
N eN @O B @) G AT, & AT3H

108 SrOAGE AF@eD G0N0 (1) OB (@) HE5 HO
@OND 2T 2D DODE DAHOA.

(a) 159) 50 DATTO0 DT HONEL (DHDI0 I ST HO*RH0NS
o Barew (1) e hlodiod.

(b) 135450 QAT TG0 BT )0HE (HISH0 T AT DT RDONS
ol 235720 (2) T iHO O OA.

() 199150 DAPFI0 VT H0HEH (HSSTeen L I EOR D000
oS 2 28363 Sror HoNo TESE D 2o (3) M
oo,

(d) 159350 QAT TN AFT) 0O (DHastiren LI EOR S HO70
58 @555 AT 040 295085003 ab Baran (¢) m Hdodod.

When the value of the rwo digit aumber pq 1s greater than 9. what is that

mmber?

Godoﬁuibouqu Deud 9 S0 Dﬂbé@%ﬁb o oy d&?
L The sum of the digits p + q =11,

Do) woSw 2axde p+ g =11

I The number is a multiple of 29.

L] am§ 29 cnnsb osino.
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Data Sufficiency

Sgros DoTDe

Note: This question 1s followed by data m the form of two statements labeled as [
and IT. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and I are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

Bsed: 198 H9) S 2.8 199). = §od L I @ Hhhen e Do
DITITEN ABOFOTT @I FDTAN. YW  ATOTQ)
&HTPNOD, AD ) (HSITEN (F)30 SSAPETFTR) BT J0CHH
DOFTEN ©HTAT BT @ 0D AT00TE). & TV

180 Srd¢6% Q@) SHTN0D (1) Hod @) H6% O
SO B2 DODE TOHOA.

(a) (0950 DATPTH0 BT IOCHE (DIIN0 I S5 DT 3DDONS
N 235720 (1) e HOoB0A.

(b) (HF) 50 DATHH0 DD HOCNE (DAIH0 1T 7 (ha HTERN0NS
N e () HdoBod.

(€) (5950 DAIFTH0 D YOO (Nedeimren I I §62 HO*EDHON
©oS D 253 rEr HoUR0 TESS D 2o (3) M
HOoBo’.

(d) 19450 DIFTRH0 YT Y0CE (DI eN L 11 R 30 D00
578 @993 AT 0F0 9SDBHANE ) 22D (@) ™ HA00A.

What is the value of the odd integer p?

85 RPTros p Dend Dod?

1 28<7p<49.

I. 27=3p <72
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Data Sufficiency

Sgros DO

Note: This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone 1s sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and IT together are not sufficient to
answer the question and additional data is required.

BIeeSeS: (D 1975 2.8 1H4). T2 1808 L I & Hew &es Dok
[DddTren SFodomr  @HjAToN. BN AT 0TR)
SHTTHOD. AN |DIITEN (5%) 50 SIFTTR) 2B )0H%L
DT EN @HTO® B @R i AT00Td). & DTG

Sod SrQddE ArEen aadriod (1) Lod @) H6% HO
@0 V2D VONE TAHOA.

(a) (950 DAFPEFH0 9D YOOI (DSWIS0 [ SF|edadd HT*FRNONS
N a2 (1) e hHdovod.

(b) (294250 ATEIN0 B HODH (DADR0 I AT DTN
Q) a2 (2) T HBowoA.

(€) N5 DITETS0 B I0OE (DSdmren L I R Honon
oS 2 288 Sror Soudo TENFS D asww 3) ™
hbovod.

(d) 195750 QTS0 BT YODHE (DdImren I I EOR) §E° TR0
58 @355y GEF0F0 eHDGH0LS & Barad (4) T HYoSoAd.

What 1s the sum of the terms in the anthinetic progression?

085465 Dorw Dudo Joh!

1. The first term of the progression is 5.

#C gy, A Do 5.

II.  The number of terms in the progression is 50,
& 3¢S DeSwe Doz S
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Data Sufficiency

Bgro% DO

Note: This question 1s followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given mn the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement I1 alone is sufficient to answer the question.

(c)  Mark choice (3) if both the statements 1 and II are sufficient to answer the

question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

B3°e8eS: (5563 (DHFYS 2.8 D7), &0 1808 L IT e Hex de Boch

[DSNTEN STOIOM  QIRFTON. WD)N  OBOT)

GAODNOD). LI 1SN [$9) 50 AATFTTR) RDJOCOHE

HOGEren eHTOIT B @l M ATO0TE. & TG

800 Sr@d68 ArEen GHarNod (1) Sod @) S650 HO
@ONA BT 2N DONE DADOA.

(a) 1HF) 50 SAFEFO0 BT YOI (DATIS0 I AP\ 53 DT SaleHd NS
D 2ar2w (1) HOotod.

(b) (%50 DTG0 AT I0DE DIIN0 [ AT DO DDONS
S 23720 ) HBotod.

(€) (DFIE0 NDSFETRHO QT HOHEY (DadLIren I, I R HOER00
oS 2 258 Sro HouRo TEHE S aoww 3) W
Mootod.

(d) 19950 DAPTO0 B JONE Beidiren LI5S0 §FE° HTR0
8 @555 OTOE0 ©IDBNONSE 2 272 (4) M HOOB0B.

How many stadents i the class could not pass in Hindi and Telugu?
& S606°D dod H06 Darjdien oS Ar bk Suxb ¥'Ar elden
L 12 passed in both Hindi and Telugu.

12 2368 Iro6, Berw Bodothes A adtvnirm.

II. The number of passes in Hindi excesd thar in Telugn by 15,
Sewrn &' eSO b Sodd 15 2008 day 3 Sodes
adgovainc.

TS ICET 2018



TS ICET 2018
Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 10 Question Id : 9126062664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Data Sufficiency

BGo# DU

Note: This question 1s followed by data in the form of two statements labeled as [
and IT. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

{d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

B3eesed: 19 () S0 2.8 1HF). = 8o L IT @ thden o> Do
RDIVITEEN ATOFOT DIFDFON. W) ATOFTWR)
SHTWPNOD), DD )N (HSIT°EN (9% 50 DSPTTR), BT )OHE
DTN YT O BT @ D JT00TTE). & JT K

B0 Srdd88 dF@en SHATNOD (1) MO @) HB% SO
©OND BTN DONE TONOA.

(a) (%50 DATTH0 2T )OO (HDIHS0 T S DT ERDONS
a0 25320 (1) 1 HOo0B0AB.

(b) (HF) 50 HIPHO0 DD HOCHH (DDIDO IT ST°(H3 HT*RDONS
N 22N (2) ™ HB0BoA.

(©) (D980 DITTO0 AR JOCHEY (DeIimren I I E0R DT
©@oS N 253 SrE HoUN0 TED'S D B (3) M
HOoBosk.

(d) 199150 DITFTH0 9T JONH |DITeN LI EOR $ra D000
58 @99 OTF0F0 @SHNGHONS o 272 (@) M MHAoBoB.

Are two triangles AABC and ADEF similar?

L LA=LD. LB=LE

II. LA+LB+LC=LD+LE+L_F=180"
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Data Sufficiency

Bgros HoHS

Note: This question 1s followed by data m the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

BIeLSS: (D DTS 2.8 1H9). T 1808 L IT & Hhen ffe> Do
(3TN ATOFOT FIJDTON. Q) STOFTR)
SIMWINOD), DI (DDITEN (3730 DAFTTR), T,)0NE
DOFTON HTAT BT @ D AT00TE). & AT BHH

1806 Sr3e8% dr@e)n SHTTNOD (1) Hod @) HB% HO
0N BT DODE DAHOAB.

(a) |0F) 50 AIPTRO0 2T IOOE (DHIH0 I (3D DTRHONS
o 23632 (1) T HO 00 A.

(b) (%) 50 HATTTH0 DB YOOI (DSTIH0 I AT (Ha) DTN
N Baray (2) 7 HdoBob.

(€) [(DF)B0 DAIFTO0 AW, )OLDE [Dadimren I I §62 D000
©0oS D 2583 Ere HoUN0 TEDE D 2ara (3) M
HooB0A.

(d) 1% 50 DSrTH0 B N0HE (DTN L I EOR 3@ HT™500
578 @R OT0F0 @©INBHONS o 272D (@) ™ HB0DOA.

‘What is the least common multiple of two positive integers a and b?

Boc &3 rgrosten 4. b © €Y a«;m; focis i Joes?

L a and b are distinct prime mumbers,

a. bew :Jé;.al 2D Romjen.

1L a+b=28.
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Data Sufficiency

Ggros HoHS

Note: This question 1s followed by data in the form of two statements labeled as 1
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.

BPSS: DA (HF)SD 2.8 (54). D 1808 L I e Hven ey Dok
(DIDBTeN  ATOFOM™  ADHZRTON. WA ATOTV)
SHTIEHOD. 2D ) |HHSETEN 1H4) 50 DergFard)) @3, 0%
DHoEEren eHErolr Bor @ NG ATVoTd. & AT 8%

B0 SrQ008 AriEen Ga@rNod) (1) Hod @) 6% OO
0N T2 DONE ToHoAd.

(@) 192350 DSTEFE0 BT )OO |DSINO 1 ST HTNDONS
) 2arew (1) ™ Hdowod.

(b) (HFYE DAFTO0 FD YOI (DIIN0 I IF|edad DT™RDONE
& 2aran ) e Hovsod.

(©) (DFLE0 AITEH0 DD YOGH (DIITTEN I, T R DT 000
®oMmS D 258 Srm HouNo FESE H zTaw (3) T
hOosod.

(d) 197150 OIFPTH0 AT JODHE 1D N L I EOR 7 E HOU° R0
58 @¢5:35) OT0FO0 @6500:D0NS ) 238720 (4) I HA0S04.

‘What is the product of the 7 texms which are in geometric progression?

miég‘r‘mleougoaoa?
L The first and last terms are S and 32 respectively.
2 SoBoko DB HEAVED SERMT . 32,

II.  The common ratio of the geometric progression 5 2.
tom 42 S0E), amé.-.'. Dixyd 2.
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Data Sufficiency

Sgros DO

Note:

(a)
(b)
(c)

(d)

This question 1s followed by data in the form of two statements labeled as 1
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement 1 alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements 1 and II are sufficient to answer the
question burt neither statement alone is sufficient.
Mark choice (4) if both the statements [ and II together are not sufficient to

answer the question and additional data 15 requured.

Jreses: (98 (HFSH 2.8 199). TQ 1806 L I @ Hhen de Do

dPTen  OT0oF0m  @HIRFoN. WD AT0TV)
SN, A ) RSSEren |04) 50 AdrTraEa) A0 %
HOLre) @HBOF BO® © DS JITO0TE. & DTGHE

808 ArPEGE AFETe) &HETNoD (1) HOB @) SO5 HO
SOV BT JoNE DahHod.

(a) (¥ 50 DAFTHO DT YOO (DGO I HFSD DT FRDHONS
a0 272 (1) hdoBod.

(b) (DHF 50 DATPLT0 BT YOCHEY [HTIS0 M S| HO RO
2 2720 (2) I H0oHoA.

(c) [F)E0 DATTTA0 VIO (DSSTED I, 1T SO DT RO
wochd’ d 88 dra Jdopdo TEE N asw () W
Moo,

(d) 1399250 DAPET0 ST 0B [Ha55577en L 1T EO R S0 H0750
% 958y ST OF0 @HOGH0NE N 2aran (4) T HOoBoA.

1n the adjacent figure. L PRT=_ TRS.
15 PQ parallel to TR?

25,209y Hesoes’, L PRT = L TRS.

PQ. TR &9 Darcso !

1L

PR=QR.
PR=PQ.
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Data Sufficiency

Ggro® DO

ote: This question is followed by data in the form of two statements labeled as 1
and II. Yon must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement 1 alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c)  Mark choice (3) 1f both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient 1o

answer the question and additional data 1s required.

DESeS: 1063 1HF) S0 2.8 1593, oD 180 L I ed Hhen ey Dok

(PDRLITe) AT OF0MT RLDTON. QAW OTOTV)
GATTNOD. FD S |DSDT W (58] 50 ASIFPFETR) RD YOS
DT D BT BO® 2 ) AFT00TE0. & DTGB

1508 SrGG)8 ArEey SHTFAoD (1) DO |@) SB5 OO
E90005 26T20) NONE TOROA.

(a) |3%) 50 DATES0 AT N0HE (HHDSO T ATSE HOiRDONS

(b

(c

(d

L

o) Baxey (1) HOoSo M.

) (%180 DAFETS0 BT )ONF [HHDIH0 I P HoFRHoNS
o) 2aran (2)  HBosod.

) 19%) 50 Do AT )05 Ihadaren I, I §eR) HTrgon
©0oHS 2 28,8 ror H0URN0 TESFS N 20w () ™
hlovod.

) (%) 50 DATETH0 BT JODHE [HSHT N LI EOHH §rE HO™R0
5% @dsy OB 040 @HIGHONSE b 23s72n 4) M Hosod.

In an election contested by three candidates A. B and C. how many votes
are polled by each A, B and C?
A B. € en I Debaon) s ad)86° AL B. C 0’ 28,568 O &t
oErow?

A got 1000 votes more than B and B got 1500 votes more than C.

C o8 B S 1500 &b I8 2Bk B o8 A £ 1000 &L d&y.d
;ﬁcr')ma.

A total valid votes polled 15 19000.

2ooge TP &40 19000,
TS ICET 2018
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Data Sufficiency

agros DoRe
Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) 10
(4) as per the following guidelines:
(a) Mark choice (1) if the statement I alone is sufficient to answer the question.
(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the question.
(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.
(d) Mark choice (4) if both the statements I and IT together are not sufficient to
answer the question and additional data 1s requared.

QD Se: 1D (DI 28 15%). TR 150 L I @) e fie) Dok
PIHDVTN  ATOFOMT QIHFDTO. W) ATOFTA)
&HTBFNOD, VD) (DILHTTEN (HF)H AIPFT), 2 )0 HEd
JOETeN GHTA Do @ D AFT00TO. & ATVt

B0 Ardad s arEren &HATFN0D (1) Hod @) S5 HO
@O B2 D0DE DADOA.

(a) (DF) 50 QAFTPO0 DT HOCHEY (H5HS0 1 3T HOjDhHones
M Bayew (1) e HB0BHoB.

(b) 193 50 DSTETH0 B Y0CHR DSBI0 IT ST e DT e oS
2D 2672 (2) T MH0oB50A.

() FLH D TFH0 QD )OCHE (DI BTN L I O HDTHaIaD 0N
@oNS O 2568 ErE JoUN0 TENFE D 2y (3) ™
MmBodok.

(d) 19%) N DAITEH0 2D )00 (Daddmren LT EOR H7 HT°00
58 @G0 OT0F0 @0GN0NS oD a2 (4) M HdoBod.

Whati1s L Q i the given tnangle? =

BD\D Szones’ LQ dea?

I. PQ=8cm.PR=10cm. _R=75"

PQ =80, o, PR =100 &, LR=75"

O LP=60".QR=9cm.
LP=60" . GR=9do. .
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Data Sufficiency

Bgro% DGO

Note: This question is followed by data in the form of two statements labeled as 1
and I1. You must decide whether the data given m the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient 1o answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

{¢)  Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

QS (D68 D) S a8 159), T 1808 L I @ Hden He) Dodd

RSDTen AT odomr WHAFTOW. AD)Q  OSFT0oTR)

GOOrNoD). B )M (DSTED (HF) 5o HSTTRR) A oty
DOTEN @HTOTT BT @d D AT00TO). & AT O

1800 Srddd 8 SrEren SHAN0D (1) 0B @) SO5 OO
20N BTN DONE TODOA.

(a) (159250 VFPEFS0 BT HOH) (DIDIR0 I SF(Sad) DT RHoNS
2 2720 (1) ™ Hoowod.

(b) 139450 DATEIAS0 BD HODH (L3S0 M AP0 DTN DN
N 2B (2) T HBoS0A.

(€) 1DFYE DAFTTI0 QD HOOEY (DHHTEN L IT EIR DT 000
@0t D 258 Sra HoUMQo TESE D 2T (3) W
A0S0,

(d) D950 DATETH0 AT YO [HHTEN L, I O SrE D00
58 @305 ST0F0 ®IHOGHONES 51 BaT2w (4) mihOooAH.

Is na prime number?

i1 L8 DX :aeaqrﬁ?
L nisofihe form k¥ 4+ 4,k > 1.

k4 4.k > 1L srses’ 1 oy 8.

IL nisofthe form 4 k 4 1.

4k + 100008 1 )&
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Data Sufficiency

Sgro? DTS
Note: This question 1s followed by data i the form of two statements labeled as [
and I1. You must decide whether the data given in the statements are sufficient
fo answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
(a) Mark choice (1) if the statement I alone is sufficient to answer the question.
(b) Mark choice (2) if the statement II alone is sufficient to answer the question.
(c¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
JeeSed: (98 153 S 2.8 197). T (§od L T & hdpen fe Dok
RaSTen  OToFomr  @djaFan. @)D ATFOTQ)

DTN, WD I (DeIITEN (7)Y NAFTIR)) B )OS
DTN @HTOIT BT @ D ATV0TO. & DT

1808 AFFGGE SFETen GHOIN0D (1) oA (@) HGH O
0N 2aT2DA HoE DOHOA.

(a) D)5 DAFTO0 TD IO (HSIIG0 I APedah HoTiRHonS
a0 2aew (1) Hdocod.

(b) ()50 HSFTH0 VD JODED |DSIDO I AT (€53 2 T°5en 00
oy 252 (2) I HOo0A.

(€) (FL 50 DATLTH0 BT HOCHED DTN L 11 5600 HOZ)-000
0N & 25,8 rE HoYR0 SEFS M 2T (3) T
Mmoosod.

(d) 199950 DATTFP0 QL )OO [DSIren LI 503 §7E SO0
55 @GSy ST0F0 @H0BHONS b B2 (4) ™ HA0H0A.

If a. b, ¢ are integers, is 3(a+c) = b divisible by 3?

a. b, ¢ o Jroresteand 3(atc) + b edd 3 3 arhodacidoes?

L b is divisible by 3.

b. 3 & erhodedo.

II. a + b is divisible by 3.

a+b. 36 ofchedco.
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Data Sufficiency

Sgros Do

Note: This question 1s followed by data m the form of two statements labeled as [
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

D50LSeS: (93 DTS 2.5 199). T 1808 L IT & thHhen e Do
ITren ATOFOT B JATON. Q)  ATOFTR)
SDTBPNOD, AD )N (DTN (39450 DAFTFER) B3, J0NE
DO )0 BI® @ B AT00Td). & JTGHH

B0 SrG8E drEe) SHATN0D (1) Hod @) H6% HO
0N B2V DONE TOHOA.

(a) (%) 50 DAPTH0 AT HOOH (DIDS0 1 J7(€63 HO*FRDONS
D 2672 (1) e HO0BoA.

() (5% 50 DATFTH0 D3 HOCHE (DOIH0 I S7°(gHad DT R0V
N 2332 (2) T Hdotod.

(©) (%50 DIFGFH0 D JOLHE (Dadrimren L I §0O 05000
®oceS D 283 e HoERNo TESBE D 2w (3) M
HooBobk.

(d) 1% 80 DS TH0 DI YOS (DA EN LI EOR) ST HOER0
58 990 T 0F0 SNBHONS ) BT (4) T HA0B0A.

Is the tiangle AABC equilateral? (a. b. ¢ are lengths of the sides of the
triangle).

Szhoae AABC dsverioro dzbadr? (a.b. ¢ e Jza shero Fapew).

L  a*>+b*>+c2>0,
L. a?+b*>+c* = (ab+ be +ca).
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Data Sufficiency

BTPos DOHS

Note: This question is followed by data in the form of two statements labeled as I

(a)
(b)
(c)

(d)

and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Matk choice (1) if the statement I alone is sufficient 1o answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

AreSaS: (56 (97) S 28 (954, T (§od 1 T & Hdyen e Do

Raworen  OFoFoirT  @WIIDTaN. Q)N STOFTWR)
GHTTNOL). T )M (DT EN 197150 DSTEFaR) A, )05
DTETEN @HFAT BT @ D AFT00rd). & T 0

(80O Srdcd8 ArEe) SHTNoD (1) 0@ @) H0% &O
NS 22D JONE TOHOA.

(a) (DF) 50 DSPTS0 AT OIS (DHSDA0 [ SF(€5ad) HT° RN
a0 B2 (1) T H8owob.

(b) (%) 50 DAFETFH0 /T JONH (DIDS0 T S8 DT ;D00
N 2aran (2) mH0omod.

(€) |HFLH QIFO0 QT YOOI [DSSTED L 1T ER) HTEDNSHOD
@ohS D 25,83 Sror oo TENFE D 3w 3) M
MOoSoA.

(d) %5 DATETS0 2B HOLHH (HSeren 11 0N HrE HTR0
g8 @005 ST 0F0 @HO0000S D 25T (4) M MHA0HOd.

How much time will it take for two pipes A and B to fill a tank which 15 half

full?

mﬂmmlsgmwmaém Depuy A Bus Jeg

s Doodoed’

L

A can fill the emipty tank m 12 minutes,

O ) FH 12 Dawars’ A Dodrwd.

B can empty the full fank m 8 nunutes.

Rocorr &y g 8 dawarg” B ard dabroc.
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Data Sufficiency

Bgro DO

Note: This question 1s followed by data in the form of two statements labeled as [
and IT. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

B3ot5d: (D 10150 2.8 1H9). T (§od L I & HHen e Do
TN ABOFOT JHIATON. WD) STOTR)
EDTWNOD), DA (DSITTEN (37 B0 SAFFTR) BT3,)0CHEY
NOFTEN 9T O BT® ) 2B ATO0TE). & TG

1808 SrdtdE SrEe) SHTENOD (1) OB @) HB% HO
0N BTV DONE TAHOB.

(a) (%) 50 AITPTO0 AT HOLHH (DIIG0 ISP DT*FRDONS
a 26320 (1) T HO0B0A.

(b) (%) 5 HATTTH0 BB HOE (DAIH0 1T (5D HT*RD0NS
) 2B (2) T HdoBodk.

(€) 1DF)H DSIFHFO0 QD )JOLHE (Nadimren LI EOR) D000
®@ocS D 2583 Sror JouNo TESE D 2w (3) ™
HOoBo’.

(d) (%) 50 DSTrTH0 9D H0HE (DIHTeN LI O 0 D050
58 @003 BTOF0 @HNBHONS 8 B2 (4) M MHY0B0B.

n and mm are real numbers. Is n?2 < m?2?

N, 1M e FRHD Bowfen, 17 < m? ewdysoors?

L m=0
I. n< m
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Problem Solving — Sequence and Series
:amavg FBD — ST, Fraen

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Drded: 198 1D )SET 2D dowien M) @oen TR 28
1Z020DE AANSTR) ST I0D. (DS (D)5 D
Q)0 DY) DWITO ADOG D0 @0 Ral2DAD e} SR
@8 VD STERS 200 S idvom JrdoirTd).

Mouse : Cat :: : Tiger

dens @ 28 )13

(1) Deer (2) Lion (3) Grass (4) Forest

2og ~oSro (gl D)

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 22 Question Id : 9126062676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
DIT| FGD — I, Sraew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Deded: 198 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 D) DAIFTO DOG DO 0D B2 )R
@80 AODH SIS 230010 S0 300ty d.

100 ;- 9989 - - &0

(1) 6599 (2) 3999 (3) 6999 (4) 3599

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 23 Question Id : 9126062677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
DIT| FGD — I, Sraew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Dedded: (8 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 DY) DAIFTO DOG DO 0D Zar2DAD )R
eI QoD S8 2300 ZexiiShom sJrooird).

BRZ : 2026 :: EQT :

(1) 3@ 19 (2)4®19 (3) @20 ) 3@21
Options:
1. %1
o %2

3. ¥ 3
4 # 4

Question Number : 24 Question Id : 9126062678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
:am&’g FBD — ST, Fraen
Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Dedded: (8 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 DY) DAIFTO DOG DO 0D Zar2DAD )R
eI QoD S8 2300 ZexiiShom sJrooird).

READ : DEAR :: : PINK

(1) PNKI (2) PENI (3) KNPI (4) KNIP

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 25 Question Id : 9126062679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
DIT| FGD — I, Sraew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Dedded: (8 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 DY) DAIFTO DOG DO 0D Zar2DAD )R
eI QoD S8 2300 ZexiiShom sJrooird).

72883418

(1) 128 (2) 125 (3) 132 (4) 135

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 26 Question Id : 9126062680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
DIT| FGD — I, Sraew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Dedded: (8 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 DY) DAIFTO DOG DO 0D Zar2DAD )R
eI QoD S8 2300 ZexiiShom sJrooird).

7 0342 19

(1) 600 (2) 728 (3) 700 (4) 712

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 27 Question Id : 9126062681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
:am&’g FBD — ST, Fraen
Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Dedded: (8 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 DY) DAIFTO DOG DO 0D Zar2DAD )R
eI QoD S8 2300 ZexiiShom sJrooird).

DRIVER : ESJWES :: HELMET :

(1) FINMIS (2) FGONGS

(3) IEMNEU (4) IGNOGU

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 28 Question Id : 9126062682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
DIT| FGD — I, Sraew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Dedded: (8 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 DY) DAIFTO DOG DO 0D Zar2DAD )R
eI QoD S8 2300 ZexiiShom sJrooird).

LKJ : onm :: o hef

=

(1) EBC (2) DCE (3) ECD (4) EDB

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 29 Question Id : 9126062683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
DIT| FGD — I, Sraew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence
without breaking the pattern.

Dedded: (8 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd

QD)0 DY) DAIFTO DOG DO 0D Zar2DAD )R
eI QoD S8 2300 ZexiiShom sJrooird).

.onln+l} 2
LK : =— 10 Zg4K® 1
nZm+1)? y M+1)(n42)
(== @y ===
. Jn42)¢ k1)
(3} (1= (n42) ‘,4_) {1 H2n-£1)
4 [
Options:
1. %1
2 ® o
3 % 3
4 ¥ 4

Question Number : 30 Question Id : 9126062684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
DIT| FGD — I, Sraew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Deded: 198 D) SET 2D dopen T e@foen TR 8
BH2IS AaNSTFY) aFSDTYon. (DS (H9)SD PRd
QD)0 D) DAIFTO DOG DO 0D B2 )R
@80 AODH SIS 230010 S0 300ty d.

54 : 88 :: 180 :

(1) 218 (2) 228 (3) 248 (4) 238

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 31 Question Id : 9126062685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : From the question. pick the odd thing out :

HORE : (DT OS HOFOIA HBOTHAW :

Note : In guestions nambered 31 to 35 pick the odd thing out :

HDE 1 31 Aod 35 H0D o DI S BOTVIS WL :

(1) (3.4.19) (2) (4.5.29) (3) (5.643) (4) (6.7.55)

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 32 Question Id : 9126062686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HORE : 1HTOS HONFOIA HBOTHAW :

(1) February (2) July (3) May (4) November
2356 =13 20 Paoed

Options:

1.v1

o ® 2
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3. % 3
4 % 4

Question Number : 33 Question Id : 9126062687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HoDRE : 1) OS DO HBOTHAW :

(1) Sphere (2) Square (3) Cube (4) Cone

Ao SBEER0 2030 Fo30)

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 34 Question Id : 9126062688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HoDRE : 1HT)OS DO HBOTHAW :

(1) 15 (2) 17 (3) 19 (4) 23

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 35 Question Id : 9126062689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : From the question. pick the odd thing out :

HORE : (DT OS HOFOIA HBOTHAW :

(1) 56 (2) 42 (3) 77 (4) 45

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 36 Question Id : 9126062690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HE: 10D (HF)S 2.8 PSS JANATY) aTe3DDT Yo, €
AONATFD)  HHA0D  JOAHH  JIrToes  FFPOD
oJ*OOD0B.

Note : Each of the questions from 36 to 45 follow a definite pattern, observe the

same and fill in the blanks with suitable answers.

AS0DE 1 36 MG 45 JOD o DI U 28 HDSIOD Doy avea-.;qmslon.

eaﬂmmﬂl 20 Dod) DB ma“ug YO PPBotiod.

(1) 58 (2) 63 (3) 65 (4) 56

Options:
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1. %1
2 ® 3
3. v 3
4 # 4
Question Number : 37 Question Id : 9126062691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HE: 1D (HF)S 2.8 PSS DANVATY) T30, €
AONATY)  HHA0D  JOAHH  JIFTT oS  FPOD
oJrDO0B.

9,101, 999, 10001, . 1000001, 9999999

(1) 9999 (2) 99999 (3) 999999 (4) 9999999

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 38 Question Id : 9126062692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HDRE: 1D (DS 2.8 PSS DADATY) ;3T on. e
QOPAFY),  HNA0D  JOAHH  DIFFTTOS  FTPOD
00504,

(26, 28, 27). (22. 24. 23). (18. 20. 19), (14, 16, 15).

(1) (12,11, 10) (2) (10, 11, 12)

(3) (10, 12. L1) (4) (12.10.11)
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Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 39 Question Id : 9126062693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: 1D (HF)S 2.8 POIBDS DADATY) T E3NT Yo, e
QOPAFY),  HDA0D  JOAHH  JIFFTOS  FTROD
000G,

7.13. 21, 31,43, 57,

(1) 73 (2) 72 (3) 70 (4) 69

Options:
1.¥1

o B oo
3 ® 3
4 % 4

Question Number : 40 Question Id : 9126062694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HDQE: 10D (S 2.8 PSS JANATY) are3DDT oD, e
QONAFY),  HANA0D  JOAHH  JIFFTTOS  FPOD

0000,
245, 18.0. 125, 8.0, .20
(1) 3.5 (2) 4.0 (3) 4.5 (4) 5.0

TS ICET 2018



TS ICET 2018

Options:

1. %1

2 ® 3

3.9 3

4 % 4

Question Number : 41 Question Id : 9126062695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill i the

blanks with suitable answers.

HoDDE : 1B (HFS 2.8 PSS DANATY) Te3DDT Yo, e
QOPAFY),  HDA0D  JOAHH  JIFFTOS  FTROD
000G,

2 11

B8
—_ ].—= . —

Vrg- qu- 5 .

. ! iy B I & e 15
—_ ) ——— 3 ——r o=
(1) N { 55 (3) S5 N

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 42 Question Id : 9126062696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HoDE : 1D (HFS 2.8 PSS DANATY) Te3DDT Yo, e
AoHATY),  H0A0D  HOAHH  AIrToesS  FFPOD
b ielelnlelal

7, X NG TR P N

(1) M (2) K (3) H (4) 1

Options:

1. %1

2 %

3. v 3

4 # 4

Question Number : 43 Question Id : 9126062697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HoDDE : 1D (HES 2.8 PSS DANATY) ;3T Yo, €
AONAFD)  HHA0D  JOAHH  JIFToes  FFPOD
oJ*OOD0B.

20T AT3252.77.

(1) 85 (2) 92 (3) 107 (4) L10

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 44 Question Id : 9126062698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: 1D (HF)S 2.8 PSS DADATY) T30, e
QAoNDATFY)  HOA0D  HOADH  DIrTFOOS  FPOD
b ielelnlelal

3.4.6.8.9, 12, 12, 16. 15, 20, 18, 24, 21.

(1) 27 (2) 26 (3) 24 (4) 28

Options:

1. %1

o %2

3 %3

4 ¥ 4

Question Number : 45 Question Id : 9126062699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: 1D (HF)S 2.8 PSS JANATY) TeE3NDT Yo, e
QAoNDAFY)  HHA0D  HOADH  DIFTFOOS  FPOD
b ielelnlelay

7.8.6.9.5.10, 4,11, 3,

(1) 1@ (2) 11 (3) 9 (4) 12

Options:
1. %1
2 %
3 % 3
4 ¥ 4
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Question Id : 9126062700 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Juestion Label - Comprehension

Problem Solving — Data Analysis
R0y FSd — OTOF DINE

Note: The following graph summarizes production and export details of an industry
over the past 6 vears 2011 to 2016. Based on the data given in the graph

answer the following question.

D3TS5 eS: 2,8 DOIFD (965 @385 DOsISS YT e 2011 —2016 O dsedyeen
0005 DV DTN DoldsTorr & (80O Dyr D0
QDT 0N. & 1§00 T B0’ LOFTOD) ST SO
DT A (HFYE0 2D R I0B.

a0 -

BO

70

. /1 I\
/
)4
L~

\ \/ e EXPOF

w0 \ e Production

30

20

10

0 +

2011 2012 2013 2014 2015 2016

Sub questions

Question Number : 46 Question Id : 9126062701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018
For the years 2011 to 2016 whar was the approximate percent of the total

export in total production?

2011- 2016 DodSyorees” DoGo £8\G3S° Dodo IDRS TG RN

o’

(1) 56 (2) 33 (3) 54 (4) 53

Options:

1.9 1

o %2

z ® 3

4 % 4

Question Number : 47 Question Id : 9126062702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was the percent increase 1 exports from 2011 to 20147

2011 oo 2014 & drivsodon -':);.'rg Tdo Do’

(1) 200 (2) 220 (3) 250 (4) 270

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 48 Question Id : 9126062703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which vear was the ratio of the production to the exports nunimum?

D VoSS G0 IdBIe, &3 D3 ST Yok

(1) 2011 (2) 2012 (3) 2015 (4) 2014

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Id : 9126062704 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)
Cesticn Label | Comprehension

TS ICET 2018



TS ICET 2018

Problem Solving — Data Analysis
R0y P — OGTOF DBNE

Note: The following Pie chart derails the expenditure under varions heads of
accounts of an Autonomous Umiversity. Based on the data given in the chart

answer the questions 49 to 53.

Arad: & 308 ‘D DG DHoe ws DYADERSDY fo VDS D DHRY
DGWD PE® DIT VR ArDWES. & STrote serdorr 49 Mo 53

SOL (O DF) © DATEETLD (oBosoc..

B A, salaries e

# £ Misc Expenditure maoge
23
W D, Infrastructure Developrment
N C. Administration Expenses
® B. Learner Support Services

Sub questions

Question Number : 49 Question Id : 9126062705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If the annual expenditire 18 Rs. 24 cores. then the amouni of money spent of

Leamer Support Services is (i crores of Rupees).

>0 20y 6. 24 E'e wond Jor(p Hgso Soup 3DedD By (6.

gees’)

(1) 4 (2) 5 (3) 5§35 (4) 6.5

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 50 Question Id : 9126062706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage expenditure spent under the Head E 1s how ninch more than the

expenditure spent under the Head C?

E Derrio Socs 60y D82 C Derreio Socs 238y 282 o €085 oS FTdo

wdHgo’

(1) 33% (2) 66% (3) 50 (4) 25

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 51 Question Id : 9126062707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If i a particular year the expenditure under the head A is Rs, 3.6 Crores, then
the amount of money available (i Croves of Rupees) for head D 15 ?

28 DodS G A Dertio Socs ooy 6. 3.6 Een wond D Derrrds

Serano)d Qo (Br. Eees")
(1) 25 (2) 2.9 (3) 3.0 (4) 3.1

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 52 Question Id : 9126062708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heads nnder which lfi%% of the total expenditure spent 157

2000 a:d:r')eﬁs lﬁg% 0N B Derrrren?

(I E (2) € and E together

(3) C and D together (4) B

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 53 Question Id : 9126062709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If m a vear the expenditure under the heads C and E put together 1s Rs. 8
Crores then the total expenditure on the rest of the heads put together is (in
Crores of Rupees)?
a8 :aoaéaduﬁ‘ Derrren C. E 0 €95 wond ody o, 8 £a wond
Dfiee Do)y otdd €85 sty (dr. g'eres”)?
(1) 36 (2) 32 (3) 28 (4) 24

Options:

1. %1

2 %z

2. ¥ 3
4 % 4

Question Number : 54 Question Id : 9126062710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Data Analysis
R0 D — GT0F DBNE

In a group of 100 people who watch sports m television. 10 people watch
neither cncket nor foot ball. The munber of people in that group who watch at

least one of cricket and foot ball 187

50Dz &S evw Srd 100 08 Ao paurreds” 10 2uod §36 0. S
205 GocotdD) SIrEdd. e e’ 356. 6 ared v’ 8dho wd T

:ﬁriﬁmﬁa Roady?

(1) 90 (2) 8§ (3) 80 (4) 75

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 55 Question Id : 9126062711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Data Analysis
R0y FSd — OTOF DBNE

For any set S. let n(S) denote the number of elements in S. For A € S, let A
denote set S-A. If A. B. C are three sets such that n(A) = 80. n(B) = 46.
n(C)=38. n(AnBNC')=20. n(BhCNAY=9. n(CnAnB')=13.1If

nAnBnC)=1 then. n(AUBUC)=

B 2SS L 1(S) IS S S V2rusTY VoY BrPHBVB. ACS wond
A 038 S-A D ArdoosdEod. orc ddven A. B. C e n(A) = 80.

n(B)=46.n(C)=38.n(ANBNC')Y=20.aBNCNnA)=9, n(CN
AnB[)=13m60‘.th(AﬂBﬂC)=l 303)5%.}}0&3 nAUVBUC)=

(1) 115 (2) 120 (3) 128 (4) 137
Options:
1. %1
oD
3 %z
4 % 4

Question Id : 9126062712 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Juestion Label - Comprehension
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Problem Solving — Coding and Decoding Problems
220 Fed — SBoR. AFBON DD5EN

Note: In a code the vowels of the English alphabet A. E. I. O. U are coded as 05, 04,
03, 02, 01 respectively. The consonants B, C. D, F. G. ........ X. Y, Z are
coded as 26, 25. 24, 23. 23, 22. ....... 08, 07, 06 respectively. Basing on this

code answer the following question.

HBe5es: 2.8 §6 S 20N S50’ @hion A. E. L 0. U O

33T 05, 04. 03. 02. 01 AT, s7EVeN B.C. D.F. G. v.o.... X. Y. Z
eI SHBDAME 26. 25. 24, 23.23.22. ....... 08, 07. 06 T3> & D7°%. &
58 s Bom O 109 50 2572 j0B.

Sub questions

Question Number : 56 Question Id : 9126062713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code for “WATER™

‘“WATER® L E& D&?

(1) 0905110414 (2) 0905110513

(3) 0905110313 (4) 0905110413

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 57 Question Id : 9126062714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

‘Which word 1s coded as 032504117

D 250 03250411 = §&€ Sodedod?

(1) ECHO (2) ICES (3) ICET (4) IGET

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 58 Question Id : 9126062715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 15 the code word for "SPIN™?

‘SPIN® &) §& D50 DAY

(1) 12150416 (2) 12150316 (3) 12150317 (4) 12150415

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 59 Question Id : 9126062716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word 1= coded as 10031205227

1003120522 D Do §& dobadod?

(1) VISAG (2) VIZAG (3) VISAK (4) VIKAS

Options:
TS ICET 2018
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1.¥1
o ® oo
3 ® 3
4 # 4

Question Number : 60 Question Id : 9126062717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code for “TUBE™?

‘“TUBE" & §& D&?

(1) 11012605 (2) 11012603

(3) 11022604 (4) 11012604

Options:
1. %1
o R
3 %3
4 ¥ 4

Question Number : 61 Question Id : 9126062718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems

P20y Fed — SAON. AFBOR DendFEN

In a certain code, if 'SISTER' 15 coded as ‘RHRSDQ’. then the code for
‘BROTHER 15?

2.6 E& &° ‘SISTER” & "RHRSDQ' r» §& 3. ‘BROTHER' £ §&?

(1) AQNSIDQ (2) CQMRIJEQ

(3) CSNQJES (4) AQNSGDQ

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 62 Question Id : 9126062719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems

ROy FGSD — 8’300, G830 HandLen

If "COMPUTER® 15 coded as ‘"OCPMIURE'. then the code for

‘CALCULATOR" 187

‘COMPUTER’ & “OCPMTURE rr §& 3. 'CALCULATOR’ € §&?

(1) ACLCLUATOR (2) ACCLLUTARO

(3) CACLULATOR (4) CCLLUATARO

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 63 Question Id : 9126062720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems

P2y Fed — SB0N, GEAON DandZEN

Y
If ‘CRICKET 1s coded as ‘HWNHPJIY ". what word 15 coded as ‘GFYXRES™?
‘CRICKET" & ‘HWNHPIY're §& 85 . ‘GFYXRES' oD oso &&
woiecod?

(1) BAMSTAN (2) BASTMAN (3) BANSTAM (4) BATSMAN
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Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 64 Question Id : 9126062721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems

P20y Fes — SAOR. BEAOR Dand5eN

If the code word for “WARANGAL' is ‘XZSZOFBK . then the code word for
NALGONDA ™ will be?
‘WARANGAL' £ §& oo XZSZOFBK escnéd,. NALGONDA® & &

2cse”

(1) OZMEFPMEZ (2) MBKHNOCB

(3) OBMHPOEB (4) MBLEFMFZ

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 65 Question Id : 9126062722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
¥y Fed — SB0N. BEAON Dand5eN

If ‘SOFT" 1s coded as 19150620 then what is the code for "HARD™

‘SOFT" & 19150620 > §& &3. ‘HARD' & £& 0a0”

(1) 08011904 (2) 07011804 (3) 09011904 (4) 02011804

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 66 Question Id : 9126062723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems
RBFY FED — B, DHODO, @NBEL DDZEN
If today is Sunday. what dav of the week 1t was 123 davs before?

&: Bzr e38o°00 wond, 123 e Sdo B 5760e5°D O & 9980007

(1) Wednesday (2) Thursday (3) Enday (4) Tuesday

DG TG0 rdoardo Sogordo Suohgardo

Options:
1.¥1

o ® oo
T %3
4 % 4
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Question Number : 67 Question Id : 9126062724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems

R FED — B, DNODO, DB HVDHFEN
At what time, between 5 and 6 o'clock. will the two hands of a clock be at night
angle?

28 AGOIS0eS" 5, 6 fotsw) BG @ VA0S’ TS A Tod BV

0025 005" Soron?

5 5

10 = 5 5 —;

(1) 40 o Pasts 5 o83 40 S

(2) 422 pasts 5 o 42 2

11 N 11

7 7

3 - 5 5 3 —

(3) 43> past: 5 83 43 7y

: 4 " 4

(4) 3 ;  Pastd 5 o) 39E
Options:
1. %1
o ® D
3 v 3
4 % 4

Question Number : 68 Question Id : 9126062725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

At what angle the hands of a clock are inclined when the tme 1s 4.20?

w8 (Aoircos” 4.20 o Bweow &y Eto dod?

(1) 10° (2) 12° (3) 8° (4) 209

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 69 Question Id : 9126062726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

A 1s the father of two sisters B and C: E is the mother of C; F 1s brother of E;
and D 1s the wife of F. How B is related to F?
BEE Fesbaoren B. C 00 S9od A C HE S E D s B F 9 iy

D. F & B £ dowodo D?

(1) Nephew (2) Niece
oL D& cen
(3) Daughter (4) Son
Sraodo Eas>
Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 70 Question Id : 9126062727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

A wam T leaves from A towards B at 2.45pm with a spesd of 30 kmph. A
train T» leaves B at 1.35pm goes on a different track at a rate of 60 kmph
towards A. If the distance between A and B is 510kms. at what fime distance

from A Ty meets 15?7

208 e T 50 8. . o Do A Awod B D 243 pm € a0euS608.
o8¢ gen T; 60 8. . o DrioS’ B &od A Dp 08 Dére Docore 1.35
pm S wobendod. A B o dugf drde 510 S. . ewand, A Avod dos

Grdoes® T; Ts en SendoSotran?

(1) 200 km (2) 210 km (3) 240 km (4) 260 km

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 71 Question Id : 9126062728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

A person sfarts from a pomt A and travels 3km towards B and then s left
and travels thrice that distance to reach C. He agamn tmns left and travels 5
tumes the distance he covered between A and B and reaches s destmation D.

The shortest distance between his departure point and destination?

28 358 A Hood) waiendd 3 4. V. B pp dairded. ko 860 3 o
), D GG DoIreiod € B0 BEDHTY . @330 209y D S6AA. B ©
206) Arovds 5 0t drde poireion) w3 Aduje D A ST 6. s
20EB & Yoo Wwod D £ €3 & 6oe?

(1) 18 (2) 16 (3) 15 (4) 14
Options:
1. %1
o ® 2
3. v 3
4 % 4

Question Number : 72 Question Id : 9126062729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

Seven children A, B. C. D. E, F and G are standing in a line. G is to the right of
D and to the left of B. A 1s on the nght of C. A and C have one child between
them. E and B have two children betwean them. Who is exactly in the middle?

7 oo Heen A B, C.D. E. F. G &0 28 5650¢6° Deoyaydo. D £ 0A3Y)
208050 B 90 e 22y G ). CHDE 22 AT, A Co
0G| 2500 HI . E B o g 2dds s, DL F o ug) w6
HTY . & SED m@_ges‘ BELUS ateth

(1) E (2)D (3) G (4) C

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 73 Question Id : 9126062730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

If = is defined by agb = E. Sbyad b= S._ — 18 defined by a—b =ab.

(55 053=(77¢7) _

then (2Oo3}=(425)

aob=2"% asb=

a+b a

a+h (55 a5)=(7727) __

(203)—={424¢5)

a—b=ab. d oW, v

(1) _?5 (2) 1 (3)

9IS

-
(4 i

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 74 Question Id : 9126062731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

If + means =, —means +, X means—, and / means X, then the

value of the expression
[{(17 X 12) — (4/2)} + (23 —4)]/9=

4 09085 — D), — woiS+ @), X ol — @), / w08 X e88), 9535085,

[(17 x 12) — (4/2)} + (23 — 4)]/9 Ddewsd Josd?

s ) 12 3 i 45
(5 (2) (3) = (4) <

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 75 Question Id : 9126062732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — SO, DHODNO, @NBEL DDZEN

For integers a and b. if
aAb=(a+b—3)2+1then(1A2)A(1A2)=

QoS Rowfen a, beosaAb = (a+b—3)°+ 1 wans,

(LA2)A(1A2)=

(1) 0 (2) 1 (3) 2 (4) 3

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9126062733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed &m%a

4 =]

(256)% (16)% =

(1) 1 (2) 2 (3)3 (4) 4

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 77 Question Id : 9126062734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e008rieded JeVG <

)
27,—1,.—1 —14,2,.—1 —1p—1,2
Ifﬂ—l—b—l—c:(}ﬂlen_’(ﬂb € gt bt paTbh e =

aZblet g lpe xn_ib_lc-z _

a+ b+ c¢=0wonad X o -

(1) 0 (2) 1 (3) x° (4) 22

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 78 Question Id : 9126062735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed &m%a

x4 1392 +92° =12y(x 4+ 2) Dxi yt 7 =
(1) 1:2:3 (23231 (3)4.6:9 (4 9:64
Options:
1. %1
o %D
3. % 3

4 v 4

Question Number : 79 Question Id : 9126062736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srieded avmggj

The ratio of the present ages of A and B is 2:3. B is 6 vears older than A. The
ratio of their ages after 8 vears will be?

A.B © 2306 So0Roy Vi@ 2:3. A $3) B Saninye’ 6 Roddyoren 26, 8
RoSS T'O SIS T8 DAL .'3}:'.;3@'?

(1) 7:8 (2) 8:9 (3) 10:13 (4) 13:15

Options:
1. % 1
o %D
=¥z
4 % 4

Question Number : 80 Question Id : 9126062737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed &m%a

IFVx + fy=13and Vx — Jy =7 then [Jxy =2

Va4 Jy=13, Vx — Jy=T wawd [xy=?

ws
g
o

(1) 30 (2) V20 (3 (4) 32

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 81 Question Id : 9126062738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srieded .a»mgﬁa

’ y3—1 Vil a-—ab+b* .
If o= and b= then the value ﬂt—, 18
S V3—1 +ab+h-2

3—1 e at—ah+b°
——— b= wonwd ——— — B0g), Dews?

V341 Vi—1 altab+i2 ¥

5 13 13 . 4
1) = (2) = 3y — 4) =
{}4 ']15 I"14 {jﬁ

Options:

1. % 1
o vz
3 %3
4 % 4

Question Number : 82 Question Id : 9126062739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed &m%a

The greatest integer not exceeding 2180 which is divisible by 13 is

13 8 erfoDdeadin 2180 & ored 685 rgroso?

(1) 2184 (2) 21

LN

8 (3) 2171 (4) 2169

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 83 Question Id : 9126062740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

es085e3ed bmgsa

The number of positive divisors of 37800 is?

37800 cng) QD Trasw :anaag?

(1) 95 (2) 96 (3) 98 (4) 102

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 84 Question Id : 9126062741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bmgga

What 1s the least square number which 1s divisible by 3, 4, 5 and 6?

3.4.5. 6 08 &rHodRELNR) 83 DY 6 Vo AT

(1) 1600 (2) 200 (3) 800 (4) 400

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 85 Question Id : 9126062742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srieded bmgga

If 398. 436 and 542 are divided by k the respective remainders are 7, 11 and 15

then the lareest value of k 1s?

398,436, 542 00 k & ofodite Sy daFen SR 7. 11. 15 wond k 68
e’
(1) 34 (2) 27 (3119 (41 17

Options:

1. %1

=

3 ¥ 3
4. v 4
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Question Number : 86 Question Id : 9126062743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srie3ed .-}»mg'sa

1,75 x 1L7/S X 175+ 125 % 1.28 x1.25 _
1.75 x L.75— 175 % 125+ 1.25 x 1.25

(1) 1 (2) 2 (3)3 (4) 4

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 87 Question Id : 9126062744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srieded &mgﬁa

3 5 =6 L7

H_}; (2) 5 (-‘l; (4) =
Options:
1. %1
o ® D
3 %3
4 v 4

Question Number : 88 Question Id : 9126062745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed &m%a

Ifaz?. h=$. C:i—? and d:i—:ﬂlEﬂ

a=2—;, b=$, t=§ andd=§ €95 )¢
(lYa<b=<c=<d (2) d<c<a<b
(3)a<d<b<c (4) d<a<c<b

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 89 Question Id : 9126062746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bmgga

. , . ) 6 5 9 8 7
What 1s the ascendine order of the fractions —, —, — , — , =7
= 11" 14" 10 " 13" o
& 5 9 8 7 . .
— —, —, — , — & b irnginna?
11" 146" 10" 13" 9
“5953? {._,,1.553?9
11 10 "14 "13 "9 714 "11 "13 "9 "10
z 7 & B 5 . 7T 9 8 b8 5
{"1}_ l_ !_l'_l Tral {41 R l'_'| _l_ L] [ "
10 '9 "41 "13" 14 9 "ip" 1311 " 14
Options:
1. %1
o Wz
o ® 3
4 % 4

Question Number : 90 Question Id : 9126062747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srieded .a»;:ugga

If 2a% of b 15 ¢ then 3a% of 5b 187

b < 2a% ¢ oS, Sh £ 3a% =

(1) 10¢ (2) ¢ (3) 7.5¢ (4) 15¢

Options:
1. % 1
o %D
3. ¥ 3
4 % 4
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Question Number : 91 Question Id : 9126062748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srie3ed 3’.‘1)%573

In an examination mininuun pass percentage 18 40, If a candidate gets 75 marks
and fails by 25 marks then the maximum mark in the examination is?

28 085" &30S FHoeIE D0 40% Soed) e éj"a::rﬁb;}_ Eob108. s
@BB 75 Ardy e ToadHyBS 25 Ardyen S50 TG H eShw
SIS 00N’ 208 DOLS” (6% dovdd) en?

(1) 200 (2) 225 (3) 230 (4) 300

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 92 Question Id : 9126062749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

es0Sriedeh s-amgaa

P | : .
A person sold a table at profit of 63%. Had he sold it for Rs. 1250 more. he
would have gained 19%. Then the cost of that table (in mpees) 1s?

8 ;55% 28 6520005 A 6%% e RS w:&:&m* d (XS dr.1250 qose
NEVRLEL ea:bé SoaIBB 19% erzio ACodarcd. e Sendd § D) &6
(Grdropes’)?

(1) 12500 (2) 12000 (3) 10250 (4) 10000

Options:
1. %1
TS ICET 2018
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o oo
3 %3
4 ¥ 4

Question Number : 93 Question Id : 9126062750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eoodricded s»mgga

A person purchased a property and sold % th of the property with 10% profit. If

he receives Rs. 120000 as profit through part of the sale. then total price of the

property (in lakhs of rupees) 1s?

28 358 §2) 82 6B’ T 080 10% ererds o) 50, STTr Toad

erZio 6. 120000 9o, Dodo &5 &6 (Vi drdraDdes’)

(1) 25 (2) 26 (3)23 (4) 24
Options:
1. % 1
2 %2
3 %3
4 ¥ 4

Question Number : 94 Question Id : 9126062751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability
29083e3d PG &
@)
P. Q and R invested capitals 1 the ratio 2 : 3 ; 5. the timing of them

wvestments being m the ratio 4 ; 5 ; 6. In what ratio would thewr prefits be

distributed?

P, Q. R Déwecoe Ay@ 2 : 3 1 3 59 T diwercen SdFNedd srw

Si5cow a3 4 1 516, D 0 8S” 96 Trerud) DotdU Sotvol’

(1) 13:15:30 (2) 8:12:30 (3) 8:15:25 (4) 8:13:30

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 95 Question Id : 9126062752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bmgga

Ravi and Shyvam are partners in a business. Ravi contributes 2 of the capital for

> 2 N - - -
15 months and Shyam recerves 3 of the total profits. For how long Shvam’s

money was in the business?

8D Sodasn TR oo 28 ;}“53“{5023'5 AR den. Divdes” };ﬁ )y
15 300 6D 2EFENT . Jwdo e zioes” ;:.5 Prry T JodA0.

aﬂgéﬂdcﬁ" m}gfm 20r0cTDY &0 sve) SISE

(1) 10 months (2) & months (3) 9 monihs (4) 6 months

10 Do 8 Deen 0 Jeen 6 Deew

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 96 Question Id : 9126062753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

es0gricded s-amg,sa

Three taps P. Q. R can separately fill a cistern in 6 mun, 12 nun and 15 nun
respectively. While a fourth tap S can empty the cistern m 4 mun. If all the four
taps are opened together when the cistern is empty. in what time (in minutes)

the cistern 1s full?

2o deren P Q. R en DEDAMT w8 S8 S 6 ddoaren. 12
Aodrew. 15 Adodres’ Joddvd s T°S" - S & SO 4 DdoIrwes’
20 BADAVE. TG TV &) P TR DYTTO wEID 30D 'Y
Docrrd DE DIVEDO (D20Tre") Jogd?

(1) 10 (2) 12 (3) 15 (4) 20

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 97 Question Id : 9126062754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bmgga

Pipes P and Q can fill a cistemn m 12 munutes and 15 nunutes respecnvely.
Both are opened together but after 3 munures P is mumed off. Affer how much

more time (m mnutes) will the cistern be filled?

Boc PXpen P Q en 28 FHI sdonrr 12 Adoadren. 15 ADoared” Dodrewd.
3 Ddoare Jren Bodosdd wETH Sbos P D 20rHdH0. &9 D Jdosd
PBoDo(AB0ry’) &° S8 Doditivcy?

(1) § (2) o= (3)9 (+) 3&

Options:

1. %1

o ® 2

3. % 3

4. 9 4

Question Number : 98 Question Id : 9126062755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability
e00Srie3ed bmgga

. . ; LT
A man travels é of the total distance with a speed of 40 kmph, S distance ar a

speed of 50 kmph and the remaining distance at a speed of 100 kmph. Then the
average speed in kmph is?

258 203 Do ArGes” %a ) o 40 £.80. o, % 3 &Trdy
dobdy 50 &.2b. Drod . AdD Grordy  Mobsd 100 8.2, Sried

DOSrE3oBA. RN Do Mot §.a0.65°

(1) 64 (2) 48 (3) 56 4) 72

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 99 Question Id : 9126062756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bm%a

A person travels from his home to office at a speed of 20 kmph and reaches
office late by 15 nun. Next day he travels at a speed of 30 kmph and reaches
office 15 min early. Then the distance from his home to office in kan.s is?

28 58 83 Mo Aol TUGLOLTIS (fotd 20 3.20. DS woBHeBE 13
DDoaren BVRIOMT WEILID. RS By fotsss 30 .20, Do
e30endETE 15 DDoaren ST SEEIDA). BN @i ot Mol
ST{RosrdS Bogy B &. . ve°.

(1).25 (2) 30 (3) 35 (4) 40

Options:

1. %1

2 2

3 % 3

4 % 4

Question Number : 100 Question Id : 9126062757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bmgga

Mr. A alone can fimish a prece of work 1n 24 days. For the same work, to fuush
alone B and C require 18 days and 12 days respectively, The 3 persons worked
for 4 davs and then A left the job. then the number of davs required to finish

the remaining work bv B and C together 1s?

A 0R0B3E € HID 24 BerdS HPddaAucd. 98 DI DDA B. C e
Scodre 18, 12 Berd” Jrodobiod. S Sjoen 4 Faren SB35
BArE, A DIV 569 2920, WHdD I B. C en 3D Jrodoiuts Do
Gere Doy’
(112 (2) 3 (34 4) 3

Options:

1.9 1

o %o

3 % 3

4 % 4

Question Number : 101 Question Id : 9126062758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

eo08ricded &mgga

If a person requires 36 howrs to do g th of a work the number of additional
hours required to complefe the woik 1s?

28 DS T Boso IV PG BoHEDS 36 ot WIVG BAS & HID
218 BaberdS STOLRD WG/ dvao (Aot )
(136 (2) 8 (319 (4) 18
Options:
1. %1
o %D

3.¢3
4 % 4

Question Number : 102 Question Id : 9126062759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e908riedd s»m%a

The sides of a rectangular plot of land are in the ratio 2:3 and its area is 29400
sq meters. The cost (in rupees) of the putting up a fence around the plot at the
rate of Rs. 50 per meter 1s?

2:3 Dy B° wothoms §90 AEHBEIS 6 Lo DT 29400 .2

Dercd a..-éboﬁé 6r. 500 SN, & R0 Wotar S0l bm_)ho WODEAS

R0y OOy (6. we5°)
(1) 35000 (2) 36000 (3) 40000 (4) 42000

Options:
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1.¥1
o ® oo
3 ® 3
4 # 4

Question Number : 103 Question 1d : 9126062760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eo08rieded &»mgga

If a rhombus has diagonals of length 18 cm and 24 cm, then its area (in sq.cm)
15
28 DB BBOCON ALY VST TEPHeo 18 Do.ob. basd 24 Do.db.

@aNBNE &7 DT (5. Do)

(L)42 (2) 84 (3)432 (4) 216

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 104 Question Id : 9126062761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bmgga

A rectangular sheet of dimensions 22 ny X 10 m is rolled into a cylinder so that

the sinaller side becomes the height. The volume of the cyhinder (1n cu. cm) 1s

2220. X 1020, Fosen Ads S0wa0cas 0 Bhdw D) Fowe IS Gl

RO CORHES. @ R PRDBATRO (. M. vSY)

(1) 1320 (2) 1250 (3) 1210 4) 1000

i 113 [ T

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 105 Question Id : 9126062762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eo08rieded eﬁmgga

, e : . 77 ;
In a circle of radius 7 em. the area of a sector is — sq. em. The sectonal angle
= )

15
77
7 20.8D. TIgorr (v Jed” e DS Pue - . 20.20. Bond g6

a0
(1) 30° (2) 45° (3) 60° (4) 90"

Options:
1. %1
o ® oo
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3¢ 3
4 % 4

Question Number : 106 Question Id : 9126062763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eo08rieded bm%a

The hieight of a cylindrical drnm is 7 cm and the differsnce berween the outer

and inuer surface areas 15 44 s ¢m. The thickness of the drum 18?7 (Take

22,
E£E= =)
-

7 20.8. A an ‘;}-qr&vs“ci Ciea0) GRS erdr| QuBoi Wodd eHddY
DFer® Boa0 44 . 0.2, BOBIYE & GED) g, Do ?
(mr = z_; M S008 A0a00)

(1) 0.5¢cm (2) 0.75¢m (3) 1.0¢cm (4 1.25cm

0.5 0.5 0.75 2o.&s 1.020.20 1.25 36.2

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 107 Question Id : 9126062764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

e00Srie3ed bmgga

The area of a rhombps whose side and height are 12 cm and 26 cm
respectively.

@90t 12 0.0, MPAX, J0 26 0., AT () DBIWHIE2 DFL(0?

(1) 284 sq.cm (2) 340 sq.cm (3) 234 sq.cm (4) 312 sq.cm

284 5.20.20. 340 &.20.20, 234 5.0, 5. 312 &8.20.50.

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 108 Question Id : 9126062765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srie3ed bmgga

The smallest side of a triangle is 9 em and its angles are 90°, 60", 30°. Then the

area of the tnangle (in square centimeters)

90°. 60°, 30" w2 Erreorr 93 Szvzoss” waies D) dowsd Fae TP

9 20.80. POVIHNE &8 SZoB 2Fo(0 (5.20.0. e2¢5°)

(1) SV3 (2) 81 (3)= (4) 81V3

Options:
1.v1
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2 ® 2
3 %3
4 % 4

Question Number : 109 Question Id : 9126062766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Srieded bmgﬁa

If1397T =y (mod 144) and 0< y < 143 theny =

1397 =y (mod 144) Sodaion 0< y =< 143 wondpnd y =

(1) 101 (2) 145 (3) 245 (4) 201

Options:
1.¥1

o B oo
3 ® 3
4 % 4

Question Number : 110 Question Id : 9126062767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e008r5e3ed 5"‘5’25"3'

(110110011)x=

(1) 331 (2) #43 (3) 439 (4) 435

Options:
1. %1
o %oz
3 %3
4. v 4
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Question Number : 111 Question Id : 9126062768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAEaD. w‘gbabm &mgéa

If p and q are two statements then ~(p~q) 15 equivalent to

P. [ &0 B0t BISTVORIDE ~(Piq) S oo

(1) (~p)ng (2) (~p)n(~q) (3)pv(~q) (4) pvq

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 112 Question Id : 9126062769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, w‘gmém &mgéa

~ (pv(~ paq)) 15 equivalent to

~ (pv(~ paqg)) £ BOVLVONIA

(1) pr(~q) (2) ~phq (3) ~pA(~q) (4) ~pv(~q)

Options:
1. %1
2 ® 2
3.¢¥ 3
4 % 4
Question Number : 113 Question Id : 9126062770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘gbaéc:b 3“*’”85"3

Hf(x)=

= and g(x) =

fx) = ==

.,!:?? eond (fog)x=

Fat

(1) i

(2) (3) x° (4) x

L)
T
‘.n

L+

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 114 Question Id : 9126062771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEaDH. w@abcﬁa &mgsa

Fl<land ) =1+x+x"+ ... then £ (x) =

K<l dDofix)=1+x+ X ROOIDRIPNED fx)=
x4+l ¥—1
3 Ay ——
(1) X (2) x4+l (3) a S x—1
Options:
1. %1
o %2
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3¢ 3
4 % 4

Question Number : 115 Question Id : 9126062772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Yot ) w,gbaéa‘b avmgéa

The domain of the function f(x) = x_.; 15

f(x) = —— B0 HS%o

i1

()R (2) R-{1] (3) R-{—1} (4) R-f1,—1)

Options:
1.9 1

> w2
3 ® 3
4. # 4

Question Number : 116 Question Id : 9126062773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Algebraic and Geometrical Ability

DAEaD. w‘gbae'fao:b 3“*’”25"3

The area of the region (in sq. units} bounded by v = [x[-5 with the coordinates
axes 1s

¥ =[x-5. DEr0s ood HB00000 dred DTole (S66) cbrdes’)

(1) 15 (2) 20 {

Lk
"
| ]
h

(4) 30

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 117 Question Id ; 9126062774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘smém 3“*’”25"3

The equation ef the line passing through the point of ntersection of the lines

3x+4y+5=0 and 4x+y-2=0 and perpendicular to the line §+ %= 11s

E A

Y-

3x+4vHS=0 208030 4x+v-2=0 @3 Gpw Podd Vo) Ao V'dr g— =

295 DS ool cot 0¥ Dar HNEGes0.

(1) 2x-5¥-12=0 (2) 2x+Sy+8=0

(3) 5x=2v-1=0 (4) 5x-2v-9=0

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 118 Question Id : 9126062775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA%, w‘gﬂaécm &mgsr:s

i 2 cos 5 - s5in &
If2cot@ =3.then —=
2cos B+3in 8

1 1 . - i

(1) 7z (2) 5 (3:'5 (4) 3
Options:
1. % 1
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o Wz
3 %3
4 % 4

Question Number : 119 Question Id : 9126062776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, wﬁméoﬁa &mgsa

(1 +tan 17°) (1 + tan 28°) =

(4) 4

LY

(1) L (2) 2 (3)

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 120 Question Id : 9126062777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, wﬁméoﬁa &mgsa

3tan A— tan >4

l—3tan’4

(1) cot 3A (2) tan 2A (3) tan 3A (4) cot 2A

Options:
1. %1
o %D
=¥z
4 % 4
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Question Number : 121 Question Id : 9126062778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAEaD. w‘gzbécm 3“*’”35"3

A person walking along a straight road towards a hill observes at two points

with distance V3 km. between them the angles of elevation of the hill to be 30°

and 60°. What is the height of the hill?

28 Eoc P dode B M Sy B8 V3 8.2, arded” &d)Bocd
Docipw Mod & Eoc aang), &g Erromd 30° 607 mr A20oddgons, e
06 e

(1) ‘;3 km (2) Tk (3) 1 km (4) %Lm

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 122 Question Id : 9126062779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘gbaéc:b 3“*’”85"3

J(ab—ac—be)? + 4abe(a +b) =
(1) ab 4+ be + ca (2) ab — be + ca

(3)ab + be — ca (4) ab — bc —ca

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 123 Question Id : 9126062780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA oD, w‘gibe?oﬁa ew:.ngsa

2 ) 3 L2
at+tbh+e=%a+b+te¢=27=ab+bc+eca=

(1) 24 2) 25 (3) 27 (4) 28

Options:
1. % 1
o %D
3. ¥ 3
4 % 4
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Question Number : 124 Question Id : 9126062781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAEaD. w‘gzbécm 3“*’”25"3

H -3x+2 is 4 factor of X -6x+ax+b. then (a. hy="7

X -6x Hax+h D x-3x+2 2.8 seEcFoo wand (a.b)=7

(1) (-11.-6) (2) (11.6) (3) (-11.6) (4) (11.-6)

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 125 Question Id : 9126062782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAaD. wsaabcaa &mgsa

The remainder obtained when 9% + 6 is divided by 8 is

9¥ -6 20 § B rhcHINED 3y 300
(1) 3 (2) S (3)7 (4) 4

Options:
1. % 1
o %D
=¥z
4 % 4
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Question Number : 126 Question Id : 9126062783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Xout) w‘gmbm 3“‘3325"-’

3 15 10 L
[ =8 and =

x-+y =y x4y =y

=2 then 3x+ 2y =

o 15
Xy X T oxty =y

10

v 4]

=2 o8 3x + 2y =

(1) 6 (2) 65 (3) 7 4) 7

P | b=

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 127 Question Id ;: 9126062784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘gbae'fao:b 3“*’”25"3

In a triangle PQR. £P=x", £q=3x". ZR = v°, If 3y-5x=30, then the triangle is

28 8zvz0 PQR & £P= X £q = 3x’. ZR = ‘_vﬂ. 3y-5x=30 es0008 e &

Szoxo
(1) Equilateral (2) Isosceles
VLTIV RSVOEIIVY
(3) Right angled (4) Not a night angled
w0 §dato oy Erioto =%
Options:
1. %1
o %D
3. ¢ 3
4 % 4

Question Number : 128 Question Id : 9126062785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘gzbécm 3“*’”25"3

If-22 is the n™ term of the arithmetic progression 5.2, <1........ thenn=

wos3d 5,2, -1....... & -22 wdH 1 DSOS n=

(1) 12 (2) L} (3)9 (4) 10

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 129 Question Id ; 9126062786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘smém 3“*’”25"3

. m . . . . . 39 : :
If the sum of the first three ferms of a geometiic progression is = and if thewr

product is 1. Then common ratio is

39

WS RIS D WG Jrdd HEvw o =

WHAT . T vao 1 wond
e el L

(1) @ (3)5 O

Ik
B |

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 130 Question Id : 9126062787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA%, w‘gﬂaécm &mgsr:s

If the 21% and 22™ terms in the expansion of (1 4+ x)* are equal then x =

(L+x)* Dioed” 210, 22 S Daren DAFHRS, P& X =

(1) = (2) (3)= (4) —

A

TS ICET 2018
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Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 131 Question Id : 9126062788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Xoub) w‘gmbm .Ehmgéa

(14+V3)°P+ (1 —V3)° =

(1) 436 (2) 386 (3) 368 (4) 416
Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 132 Question Id : 9126062789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘gbae'fao:b 3“*’”25"3

00 1 L0 o B r
A= (0. 1 E’I) and B= ({] 1 [l) then A" B ' +A BV =
1 0 0 o 0 1

0 0 1 1 0 0 - =
A:(c. 1 ﬂ).B:(n ! g) wons ASB! +ARY=

1 0 0O 0 0 1

(1) 2A (2) 2B (3yAB (4) 2(A+B)

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 133 Question Id : 9126062790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘smém 3“*’”25"3

a b ¢
If a, b. ¢ are three disunet positive real numbers and if A= b ¢ a| then
¢c a b
_ a b ¢
a4, b, c 20 DDJ) T3 VoSBT A= |h ¢ a] WoNS QYD
c a b
(1) A=0 (2) A=0 (3)A<0 ) A<D

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 134 Question 1d : 9126062791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DiEaD. wsaaécm &mgsa

ligg, . oAt
A1 02 3440

(1) 0 (2) 2 (3)3 (4) 4
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Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 135 Question Id : 9126062792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Xoub) w‘gmbm .Ehmgéa

— ¢ -1 [L-H:an?r] - dv
y_ ol i—tan x i !

(1) 1

I3
I
(=
o

(4) -1

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 136 Question Id : 9126062793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘gbaéc:b 3“*’”85"3

PQRS 1s a square with diagonal a + b. The peruneter of the square whose area
15 twice that of PQRS is
PQRS @38 d<do a — b fiw 208 cseodpo. PORS Swrer(ds ooy Svoge
(0 SBOBRY wotnEus
(1) 2(a+b) (2) 4a+h) (3) VB (a+b) (4) 8ab

Options:

1. %1

2 ¥z

3 % 3
4 # 4

Question Number : 137 Question Id : 9126062794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Algebraic and Geometrical Ability

DAEaD. w‘gbae'fao:b 3“*’”25"3

In a triangle the point of concurrence of internal bisectors of its angles 1s called
1ts

28 97206 PO DB HoED S NS Do)

(1) Centroid (2) Circum-centre
Sogarv0 20835y Sodo
(3) Ortho-centre (4) In-centre
woe) Sodo @oss Sodo
Options:
1. %1
o %o
3. % 3
4 ¥ 4

Question Number : 138 Question 1d : 9126062795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. w‘gbaéc:b 3“*’”85"3

A. B, C. D are four pomts on a circle AC and BD mtersect at E such that
£BEC= 130" and ZECD =20". Then ZBAC=
A. B. C. D e a8 S0 6 raurd Docodpen. AC. BDew E 36

modowoSotar, ZBEC= 130", ZECD = 20" sscidamey om. 892 cd £BAC=

) 110° (4) 120

L]

(1) ag? (2) 100" (

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 139 Question Id : 9126062796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAEaD. 35053393053 3“5335*‘-’

The area (in sq units) of the manegle formed by the points (1. 2), (3. 4) and the
origim is

Docunen (1. 2). (3. 4) 2050 DodonHoS D& Sz prege (.
oBarreeS”)

(1) 1 @2 (3)3 4)

v | e

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 140 Question Id : 9126062797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA aD. aae;szbebom 3‘3-"35*3

If the points A(1. 2). B(3. -4), C(5. -6) and D(11. -8) lie on a circle. then the

center of the circle 1s

Docopen A(l. 2). B(3. -4), C(5. -6). D(11. -8) e 28 I 0D ol &5 5,
Sodo

(1) (11.2) (2) (-11.2) (3) (-11.-2) (4) (11.-2)

Options:
1.v1
TS ICET 2018
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o oo
3 %3
4 % 4

Question Number : 141 Question Id : 9126062798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

.3"0&355?@ &mgsa

If the anthmenic mean of 17. 2a-b. 2b-¢ and 2¢-a 15 20 then the anthmetic mean

ofa. b.ci1s
17, 2a-b. 2b-c. 2¢c-a ®© 29082060 MWeavdabcw PoSIE00

(1) 17 (2) 19 (3)21 (4) 23

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 142 Question Id : 9126062799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
FoD{ETR FD0Y D

)
The median of the observatons 7. 5. 2. 6.4. 3. 15. 14, 19, 25 8, 11, 1315
HOT0HEN 7.5.2.6.4. 3,15, 14, 19.25. 8. 11,13 L @S0

(1) 15 (2) 14 (3)8 4) 7

Options:
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1. %1
2 %
3. v 3
4 # 4

Question Number : 143 Question 1d : 9126062800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
FoDIETR avmgﬁa

The mode of the following data

Sol GTrodn) eriTuvso

X 5 1 9 10
Cumulative 21 44 68 74 105 123
frequency

RS FDIDD[0

[
Las

(1) 10 (2) 9 (3) 5 (4) 3

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 144 Question Id : 9126062801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

.3"03_.155?2 avmgﬁe;a

The standard deviation of 12, 16.23. 18.24. 15 1s

12,16, 23, 18, 24. 15 & Sraoreis doerdo

, 45 . [110 | 55 55
(1) 3 (2) 3 (3) 5 4 |3

|

Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 145 Question Id : 9126062802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

aoomssrg avmgse

Ifx # O thenthevananceofx +1,x+2,x+3,x+7,x+8,x+91s

¥# 0wood x+Lx+2,Xx+3,x+7.x+8x+9 0208

L w29 29 |
(1) = (2) == [3_IJ; (4) 5

Options:
1. %1
2 VD
3 %3
4 # 4

Question Number : 146 Question Id : 9126062803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

.3"03_355?@ avmgse

From a well-shuffled deck of plaving cards the probabilify of choositig a card
at randon which 1s etther a red card or an ace. 1s

erre SDD D 80 Mod alrdD Sorr JodE BHD wE W . AP T ™D
T 208 8370 S5°A) E:Pdijb DozrDS

(1)

Pl | e

5y 4 SE 4 L
(=) 13 (3) 13 (4) 13

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 147 Question Id : 9126062804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
auomssrg avmgse

The probability for a number chosen at random from the first 32 natural
mumbers to be a conmposite. 1s

DES 32 Bire Do o & Ay Sorr JodS BHD Doy 28

R0o00S Do) ICI| RoamDiS

5 . 11 . | 21
(1) = (2) 3 (315 (4) =

Options:
1.v1
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o oo
3 %3
4 % 4

Question Number : 148 Question Id : 9126062805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
.3"0&355?@ &mgﬁa

A bag contains & white balls and 6 red balls, The probability of drawing at
random two balls of the same colour 1s

28 2GS § BY. 6 woden &I aw. oG\ Sorm w8 Gord (e Bodd

R0SIUA D02S T F’duz;ﬂa’gej
43 43 o 4B

(1) = (2) o5 1319—3 () =

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 149 Question 1d : 9126062806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

.3"0&_355?2 avmgse

A six sided fanr die 1s rolled 3 munes. Then the probability that the face withi the

number 6 on 1t will not face upward on the three occasions 1s

DaryE8 el 2w Jaryds FAEH 3 I SPorrdd. wIN & HF

::mwag‘ar Doy 63 Bso cs Trsets socér DS R0ZP S

1 : 2z 17 . 215
(1) 516 (2) 3 f—-‘HE (<) %%

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 150 Question Id : 9126062807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

.avnm5sa=§_ avmg&e

The probability that P and Q get the scholarship are 0.6 and (1.8 respecnvely.

Then the probability that exactly one of P. Q gets the scholarship is

P. Q 0% aDx6I3d0 IBy  Rogrdisen HRmr 0.6 2odakn (.8, iy
P.Q &e5° 2,8 2,8).08 SDSESBD20B DowrSS

il 2y 28 22 gy =
(1) 25 (2) 25 [3]25 (4) 25

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 9126062808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Surmise

(1) snmmarise
(2) guess

(3) subnut

(4) refine
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Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 152 Question Id : 9126062809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Replete

(1) pause
(2) repeat
(3) full of
(4) plead

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 153 Question Id : 9126062810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Squalid

(1) shippery
(2) dirty
(3) careless
(4) sleepv

Options:

1. %1

2 2

3 % 3

4 % 4

Question Number : 154 Question Id : 9126062811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct meaning of the word given:

Liaise
(1) accomplish
(2) responsible
(2) cooperate
(4) uniform

Options:

1. %1

2 %z

3 v 3

4. # 4

Question Number : 155 Question Id : 9126062812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Nonplussed

(1) confused
(2) nidiculous
(3) frightened
(4) happy

Options:

1.¥1

> ® o

3 % 3

4 % 4

Question Number : 156 Question Id : 9126062813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct meaning of the word given:

Posmlate

(1) post

(2) holy
(3)effective
(4) suggest

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 157 Question Id : 9126062814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the biank choosing the correct word:

Stadies shiow that there 15 a/an berween obesity and food
habits.

(1) link
(2) apathy
(3) aversion
(4) racket
Options:
1.91
o %2
3 %3
4 % 4

Question Number : 158 Question Id : 9126062815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Fill in the biank choosing the correct word:

On  mnportant rehoious festival davs. there 15 linge of
worshippers at the remples,

(1)syndicate
(2)constellation
(3) swarm

(<) congregation

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 159 Question Id : 9126062816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

The basie of a democracy 15 thar it treats all people equal

(1) tenacity
(2) tenet
(3) texture
(4) remue

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 160 Question Id : 9126062817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the biank choosing the correct word:

A member of the opposition has made remarks about Ins
leader.

(1) diligent
(2) depraved
(3) derogatory
(4) dwindling

Options:

1. %1

2 %3

2. v 3

4 # 4

Question Number : 161 Question Id ;: 9126062818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
FTP stands for

(1)File Transfer Portability
(2)File Transfer Protocol
(3) File Transparent Protocol
(4) File Transfer Practice
Options:
1. %1
2 D
3 % 3
4 % 4

Question Number : 162 Question Id : 9126062819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A code of good conduct on the internet 1s referred to as

(1) netiquette
(2) net protocol
(3) net code
(4) net manners
Options:
TS ICET 2018
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1.¥1
o ® oo
3 ® 3
4 # 4

Question Number : 163 Question 1d : 9126062820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

DRAM standds for

(1) Dyanantic Running Access Memory
(2) Dynamic Random Access Memory
(3) Dynamic Reference Access Module
(4) Digatal Robot Access Memory

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 164 Question Id : 9126062821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

What 1s meta data?
(1) data about data
(2) graplical data
(3) data collected throungh survey
(4) data in a file
Options:
1.v1
o oo
3 %3
4 % 4

Question Number : 165 Question 1d : 9126062822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

From an mformation svstems andit perspective, which of the following is
the most valuable asset 1n an mformation svstems facility?

(1)Hardware
(2)Database
(3) Personnel
(4) Software

Options:

1. %1

o ® D

=¥z

4 % 4

Question Number : 166 Question Id : 9126062823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Memibers of the Board of Directors of a company are part of the

(1) management of the company

(2)staff strength of the company
(3)advisors and consultants to the company
(4)margimal stakeholders of the company

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 167 Question Id : 9126062824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

The policy gmdelines for sharing revemies benween central governnient
and state governments 1s formulated by

(1)Finance Ministry
(2)Finance Commission
(3) RBI
(4) SEBI

Options:

1. %1

.

3 %3

4 % 4

Question Number : 168 Question Id : 9126062825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

WTO is an organization for promoting

(1) Bilateral rade between countries
(2)Multilateral trade between countries
(3) Thrift m spending at mtemational level
(4) International service

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 169 Question Id : 9126062826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

With mereasing consumption of a product, 1ts marznial utlity

(1) goesup
(2) remains the same
(3) goes down
(4) keeps fluctuating
Options:
1. %1
o ® 2
3 v 3
4 % 4

Question Number : 170 Question Id : 9126062827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Which among the following media of adveriisement 1s most nteractive?
(1) Television

(2)Bill board

(3) Print media

() Intermet

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 171 Question Id : 9126062828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

The passive form of the sentence. “They have not addressed themselves to
the fask, properlv™ 15

(1) The task has not addressed them properlyv
{2) The rask has not been addressed by them properly
(3) The tasks have not been addressed by them properly
{4) The rask was not addressed by them proparly

Options:

1. %1

2 ¥52

3 %3

4 % 4

Question Number : 172 Question Id : 9126062829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Set aside all your negative feelings and listen with an open mind. This
sefitence umphes that one should be

(1) tolerant
(2) indifferent
(3) passive

(<) biased

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 173 Question Id : 9126062830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

A:  CAre o't vou cut up with me for the mess I oreated for vou last
Monday™?
B: ‘Let byzoues be by gone'.

‘B 15

(1) remorsefnl
(2) agitated
(3) careless
(4) forgiving

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 174 Question Id : 9126062831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A:  “I presume your new boss is a great achiever and hie’ll bring in a
furnaround”.

B: “Well. 1 can only say that vou are living in a fool's paradise™.
‘BT

(1) agrees with "A°
(2) unplies that his new boss 1s a fool
(3) partially agrees with “A°
(4) completely disagrees with *A°
Options:
1. %1
o %5
3 %3
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4. v 4

Question Number : 175 Question Id : 9126062832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

€ hoose the correct answer':

No matter how sotry Alex for what happened, or how many tunes he
apologised or tried fo make up for it. he couldn’t remove the hurt.

This sentence means that i undoing the hurt, Alex was

(1) partly suceessful
(2) quite successinl
(3) nusuccessful
(4) careless

Options:

1. %1

o 8o

3. v 3

4 % 4

Question Number : 176 Question Id : 9126062833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

€ hoose the correct answer':

The governmient 15 nuilling over a new fax regime
The underlined phirase meatis

(1) considering
(2) cancelling
(3) waiving

(4) postponing

Options:
1.9 1

o oo
3 ® 3
4 % 4
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Question Number : 177 Question Id : 9126062834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

€ hoose the correct answer':

A: “The volume of traffic on our ¢ity roads has risen by a lundred per
cent i the last one year.”

B: “Really?”
‘B’s answer shows that he

(1) does not believe what ‘A" says
(2) 1s surprised 1o hear the mformatnion
(3) thinks “A” 1s not telling the truth
(4) assumes the figures are made up
Options:
1. %1
e g
3 %3
4 % 4
Question Number : 178 Question Id : 9126062835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Fill in the blanks with the appropriate phrase / verb / preposition:

The boy 1s certamly bent muschief.

(1) on

(2) off

(3) through
(4) across

Options:
1.v¥1

o ® oo
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3 %3
4 % 4
Question Number : 179 Question Id : 9126062836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Poverty should not prevent a person attempting o succeed m
life.

(1) 1nto
(2) from
(3) after
(4) with
Options:
1. %1
2 2
z %3
4 % 4
Question Number : 180 Question Id : 9126062837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

He showed a preference ready money,

(1)for
(2) at
(3)m
(4) of

Options:
1.9 1

o ® oo
T %3
4 % 4

Question Number : 181 Question Id : 9126062838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:
I don't know for how long I can with his rudeness.

(1) put up
(2) mm down
(3) run after
(4) stand 1

Options:
1.9 1

o ® oo
T %3
4 % 4

Question Number : 182 Question Id : 9126062839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Recent meadical research has made a m traditional medical
treatnient.

(1) blowup
(2) break through
(3) run through

(4) play down
Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 183 Question 1d : 9126062840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:

Wlhy don’t you for a course that you have an aptitude for?

(1) putup
(2) goin
(3) get around
(<) open up
Options:
1. %1
2. V2
3 %3
4 # 4
Question Number : 184 Question 1d : 9126062841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

The snake was fast to catch its prey.

(1) walking
(2) shithering
(3) shearing
(4) feeding

Options:

1. %1

o vz

3 %3

4 % 4

Question Number : 185 Question Id : 9126062842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:

True religion does not require one to through force,

(1) proselytise
2) persuade
(3) comumend
(4) contfuse

Options:

1.¥1

o 2

z %3z

4 # 4

Question Id : 9126062843 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Juestion Label - Comprehension
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PART-4

Read the following passage and answer questions 36-40:

It 1s very likely that at one pounf or another during yvour employment. von
have been. or will be. asked to work on group projects, Although they can be
mteresting and challenging at tumes, 1t can become a stressfinl situation when the
members of the team do not pull their fair share of the load. Some do less than
others becanse their participation in the project cdoes not require as much nput.
but otlier co-workers might try to pawn their share of the work on their members
of the team. Unless you have the skill and inner strength to say “No’ to these
mdividuals who ask you to do their work for theny. you are going to be m deep
rouble. However. sometimes getiing overbmdened has nothme to do with
people asking yvou 1o take more on. but mstead 1t 1s you not being able to rell
yomself "No™ — that is stopping vomrself from taking on moré than what is
actually your responsibility because you may of the type that likes to take charge
of situations. If the problem lies with bemg asked to do more by one or more
members of the team. then yvou need to work en learnmg how to say Ne' to
their requests. You need to be straight forward yet polite. You do not want to
give them any negotiating room.

Sub questions

Question Number : 186 Question Id : 9126062844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When can group projects become troublesome?

(1) When it is boring

(2) When 11 15 difficult

(3) When others do not do their share of work
(4) When nobody bothers

Options:
1. % 1
o %D
3. v 3
4 # 4
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Question Number : 187 Question Id : 9126062845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When does “........try to pawn their share of work ........" mean?

(1) exchange their work
(2) exploit others

(3) bargain with others
(4) hunnlhiate others

Options:

1. %1

2. ¥ 2

3 %3

4 % 4

Question Number : 188 Question Id : 9126062846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When can one be in “deep trouble™

(1) 1f one 1s too accommodating
(2) if one does not have the skill
(3) if one is too lazy
(4) if one does not participate
Options:
1.v1
2 ® 2
3 %3
4 % 4

Question Number : 189 Question Id : 9126062847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why do some people ‘overburden themselves™?

(1) They have too much work
(2) They enjoy work
(3) They like to be in conirol
(4) They like to punish themselves
Options:
1. %1
2 %3
3. v 3
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4 % 4

Question Number : 190 Question Id : 9126062848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How can one prevent oneself from being taken advantage of?

(1) by bemng mde

(2) by being metficient

(3) bv being aggressive

(4) by learning fo refuse peolitely

Options:
1. % 1
o %D
3 %3
4 v 4

Question Id : 9126062849 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
Cesticn Label | Comprehiension
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Read the following passage and answer questions 41-45:

‘Raviz Hotels and Resorts’ has been a name to réeckon with in the
hosputality industry, Its commutinent fo providing traditional Kerala hospitality
coupled with world-class luxury, muln-cuisine dishes and unblemished sérvice
has gained many an accolade for the group.

Situated in four different locations in Kerala. “Raviz’ stands tall and proud
in offenng riverside. lakeside. seafront and city stays 1o 1fs guests. ‘Raviz’ by
far has been one of the most favourite holiday spots because of its diligent
selection of serene surroundings. proximity to water bodies and exquisite
facilities,

It is a ‘Raviz custom’ that everything traditional in its originality, muist be
provided to zuests who seek it, Expert phvsicians, proper administration of
therapies and a number of other authentic Ayurveda treatments can be
experienced at ‘Raviz’. For reservations call toll free 1800425222200,

Sub questions

Question Number : 191 Question Id : 9126062850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the above passage?

(L) It 15 an essay
(2) It 1s an advertisement
(3) It 1s areview
() It1s a ravelogue
Options:
1. %1
e .
3 %3
4. % 4

Question Number : 192 Question Id : 9126062851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What 1s ‘Raviz™?

(1) It is name of'a place

(2) It 1s an Avurveda brand of medicine
(3) It ts a hotel

(4) Tt 1s a tounst spot

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 193 Question Id : 9126062852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many branches does ‘Raviz” have in Kerala?

(1) three
(2) tour
(3) two
(4) one

Options:

1. %1

o vz

3 %3

4 % 4

Question Number : 194 Question Id : 9126062853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is not mentioned as a feature of ‘Raviz’?

(1) It provides traditional Kerala hospitality
(2) It provides Avurveda therapies
(3) It provides only Kerala cuisine
() It provides excellent service
Options:
1. %1
2 ® 3
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3¢ 3
4 % 4

Question Number : 195 Question 1d : 9126062854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1s not stated as a reason for ‘Raviz’ being a favourtie hohiday spot?

(1) availability of expert surzeons
(2) serene surronndings

(3) world class facilities

(4) Its close location to a waterbody

Options:
1.v¥1

o ® oo
T %3
4 % 4

Question Id : 9126062855 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cestion Label | Comprehiension
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Read the following passage and answer questions 46-50:

A new US study has warned that adolescents who take performance
enhancing anabolic steroids are more likely to have adverse neural and
behavioural consequences like aggression and moodiness because of the steroids
effect on the underdeveloped brain and nervous system. The study by Northem
University in US. centered around a brain chemical called serotonin. which is
linked to mood. Lower levels of serotonin are associated with depression and
agegression. For the study. experiments were carried out on a strain of Syrnan
hamsters. This breed has simular neurological circuitry to humans. so experts
felt 1t might be a good model for humans in this respect. The hamsters were
given a high dose of anabolic steroids over the cowrse of the month — which
corresponded to five years repeated dosage in humans. The researchers found
that the hamsters were more aggressive than those not given steroxds and these

aggressive tendencies were mellowed if Prozac — a drmg which boosts serotonin
“uptake’ —was given. However. subsequent analysis showed significantly lower
than normal serotonin levels in the neural connections of the hamster’s brains.
This suggests there may be long-term effects of taking steroids while the bram 1s
still developing. Professor Richard Mellomi who helped run the studv. was
quoted as saying by BBC: “We know steroids affect the development of
serotonin nerve cells, which in tum, decreases serotonin availability in the bram.
The serotonin neural system is developing during adolescence and the use of
anabolic steroids during this critical pertod appears to have immediate neural
and behavioural consequences”.

Sub questions

Question Number : 196 Question Id : 9126062856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Upon which breed of manunals were the experiments carmied out?

(1) adolescents

(2) Syrian hamsters
(3) Sicilian gangsters
(4) Italian hamsiers

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 197 Question Id : 9126062857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the diug used for boosting serotonin ‘uptake'?

(1)Penicillin
(2} Melanin
(3) Enthrocytes
(4) Prozac
Options:
1. %1
o oo
3 %3
4 ¥ 4

Question Number : 198 Question 1d : 9126062858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why do adolescents develop neural disorders?

(1) The effect of steroids hampers the growth of the brain
(2) Due to decrease in the level of serotonin i the blood
(3) Steroads atfect the underdeveloped brain more
(4) Prozac makes adolescents aggressive

Options:

1.v¥1

2 ® 2
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3. % 3
4 % 4

Question Number : 199 Question 1d : 9126062859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was the specific characteristic of the ‘breed’ selected for the
experiment?

(1) They were similar to human in their metabolic function.
(2) They were easily available.
(3) Thev have a similar neurelogical circuitry as human beings,
(4) They can withstand high dose of steroids.
Options:
1. %1
2 %2
3.v 3
4 % 4

Question Number : 200 Question Id : 9126062860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How would one best describe the passage?

(1) philosophical
(2) scientific

(3) speculative
(4) seminary

Options:
1. % 1
e e
3 %3
4 % 4
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